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TD, N°03 
EX01 : 

: 

 1009,13  xx

   
1,1

1000
 x  

   ux 09,909  

 

EX02 : 

(p)(r) (c) 

P=R-C= (200X)-(130X+30000) 

P= 70X-30000 

P≥250070X-30000≥2500 

 X≥464,28u 

 

EX03 : 

 

 252525  xxx  

        37  xx  
 

  533453345334  xxxxxx  
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 32332  xx  

   51  x  

 

 252525  xxx  
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      xx 6125   

     xxxx 61256125   
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TD, N°04 
 

EX01 :  ()  

 

1. (4,6),(1,2)  
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EX02 :  

a)   4,2,3 m  
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             342  xy  

         104  xy  

b)   0,6,5 m  
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EX03 : (b)  

1)  3
2

3
1264 xyxy  

2) 2084  xx ) y (  

3) 
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075 yy b 

4)  12
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EX04  y  x  

   4500,15,5000,10  
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  )10(100500011  xyxxmyy  

      6000100  xy        

 


